HOMEWORK
Lab Data FOR 5 patients was randomly generated as follows using an ARRAY statement. The DATA is in WIDE format.

data wide; 

 input ID platelets0
platelets3
platelets6
platelets9
WBC0
WBC3
WBC6
WBC9
RBC0
RBC3
RBC6
RBC9;

cards;

1
200
250
225
600
150
100
800
500
267
243
128
45

; 

run;

data wide; 

set wide;

do id= 1 to 5;

rand=ranuni(0);

output; end;

data wide; 

set wide;

array Alabs(*) platelets0
platelets3
platelets6
platelets9
WBC0
WBC3
WBC6
WBC9
RBC0
RBC3
RBC6
RBC9;

do i=1 to dim(Alabs);

Alabs(i)=rand*Alabs(i);

end;

drop rand i;

run;

proc print data=wide;

  var ID platelets0
platelets3
platelets6
platelets9
WBC0
WBC3
WBC6
WBC9
RBC0
RBC3
RBC6
RBC9;

run;

WIDE DATA
	Obs
	ID
	platelets0
	platelets3
	platelets6
	platelets9
	WBC0
	WBC3
	WBC6
	WBC9
	RBC0
	RBC3
	RBC6
	RBC9

	1
	1
	119.163
	148.954
	134.059
	357.489
	89.372
	59.5816
	476.652
	297.908
	159.083
	144.783
	76.264
	26.8117

	2
	2
	184.825
	231.032
	207.928
	554.476
	138.619
	92.4127
	739.301
	462.063
	246.742
	224.563
	118.288
	41.5857

	3
	3
	48.120
	60.150
	54.135
	144.361
	36.090
	24.0601
	192.481
	120.301
	64.241
	58.466
	30.797
	10.8271

	4
	4
	139.733
	174.666
	157.199
	419.199
	104.800
	69.8664
	558.931
	349.332
	186.543
	169.775
	89.429
	31.4399

	5
	5
	47.463
	59.329
	53.396
	142.388
	35.597
	23.7314
	189.851
	118.657
	63.363
	57.667
	30.376
	10.6791


1. USING ARRAY STATMENTS, CONVERT THE DATA FROM WIDE TO LONG. THE END PRODUCT SHOULD LOOK LIKE THIS.





LONG DATA
	Obs
	ID
	platelets
	WBC
	RBC
	visit

	1
	1
	170.464
	127.848
	227.570
	0

	2
	1
	213.080
	85.232
	207.114
	3

	3
	1
	191.772
	681.857
	109.097
	6

	4
	1
	511.393
	426.161
	38.354
	9

	5
	2
	144.865
	108.649
	193.395
	0

	6
	2
	181.081
	72.432
	176.011
	3

	7
	2
	162.973
	579.460
	92.714
	6

	8
	2
	434.595
	362.162
	32.595
	9

	9
	3
	191.436
	143.577
	255.567
	0

	10
	3
	239.295
	95.718
	232.594
	3

	11
	3
	215.365
	765.743
	122.519
	6

	12
	3
	574.307
	478.589
	43.073
	9

	13
	4
	106.713
	80.034
	142.461
	0

	14
	4
	133.391
	53.356
	129.656
	3

	15
	4
	120.052
	426.850
	68.296
	6

	16
	4
	320.138
	266.781
	24.010
	9

	17
	5
	56.471
	42.353
	75.389
	0

	18
	5
	70.589
	28.235
	68.612
	3

	19
	5
	63.530
	225.883
	36.141
	6

	20
	5
	169.413
	141.177
	12.706
	9


2. USING MACRO STATMENTS (%LET, %DO, %LET, %SCAN) TO DEFINE AN ARRAY, CONVERT THE FOLLOWING DATA FROM WIDE TO LONG. 
data character_WIDE;

  length name_old name_now name_future $ 24;

  input id name_old $ name_now $ name_future $ inc_old inc_now inc_future;

cards;

1  Ramon  Martin  Martin_Sheen  23000  50000  700000

2  John  Johnnie  J_boy         10000  20000  600000

3  Mary_Cathleen  Bo  Bo_Derek  15000  40000  250000

;

run;

THE END PRODUCT SHOULD LOOK LIKE THIS

	Obs
	id
	time
	name
	income

	1
	1
	old
	Ramon
	23000

	2
	1
	now
	Martin
	50000

	3
	1
	future
	Martin_Sheen
	700000

	4
	2
	old
	John
	10000

	5
	2
	now
	Johnnie
	20000

	6
	2
	future
	J_boy
	600000

	7
	3
	old
	Mary_Cathleen
	15000

	8
	3
	now
	Bo
	40000

	9
	3
	future
	Bo_Derek
	250000


